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1. IJKL is an isosceles trapezium. IP and JP are angular bisector of £ZI & £). If £I =57°, find LIPJ
L K

| ]
(i) 125° (i) 122° (iii) 123° (iv) 124° (v) 121°

2. In rhombusHIJK, diagonals HJ and IK intersect atL. Then ZKHL =
K

H I

(i) LYK (i) 4L (ii) £ZLHI (iv) £ZHLK

3. In the given figure, CDEF is a rhombus such that ZD = 120°. Then ACDF is
F E

120°

C D

(i) Equilateral triangle (ii) Right angled triangle (iii) Isosceles triangle (iv) Obtuse angled triangle

4. In kitePQRS, PR and QS are diagonals. Then ATSP =
R

P

(i) ATQP (i) ATRQ (iii) ASQP (iv) ASQR (v) ATRS



5. In kite CDEF, CE and DF are diagonals. Then LZGED =
E

C

(i) LFCG (ii) £CGF (iii)) £LFGE (iv) £4DCG (v) LGEF

6. Sum of the interior angles in a quadrilateral is

(i) 375° (ii) 360° (iii) 365° (iv) 370° (v) 390°

7. ldentify the figure below
C

mw

A

(i) square (ii) kite (iii) circle (iv) rectangle (v) angle

8. EFGH is a rhombus. P, Q, R and S are mid-points of sides EF, FG, GH and HE. Find £ZQRS
H R G

E F

(i) 90° (ii) 89° (iii) 92° (iv) 91° (v) 88°



In the given figure, HIJK is a parallelogram. HJ bisects ZH & Z].
" GivenH) = 9 cmandIK = 6 cm), find HI
K J

H I

(i) 6.41 cm (ii) 3.41 cm (iii) 5.41cm (iv) 7.41cm (v) 4.41 cm

10. In rhombusGHIJ, diagonals Gl and HJ intersect atK. Then £GK] =
] I

G H

(i) £JGH (i) ZIKH (iii) £ZHKG (iv) ZJKI

11. In kitelJKL, IK and JL are diagonals. Then ZLIM=
K

(i) £MKJ (i) £ZLMK (iii) £MKL (iv) ZJIM (v) ZIML

In the given figure, AHIJ is a triangle.
12. K,L&Mare mid-points ofl],JH &Hlrespectively.
GivenKL =9 cm,LM = 9 cm&MK = 9 cm, find the sides of the triangle.
H

| J
(i) 15cm,18 cm&18 cm (ii) 18 cm,18 cm&18 cm (iii) 18 cm,18 cm&20 cm (iv) 19cm,18 cm&18 cm

(v) 18 cm,17 cm&18 cm



13. The sides of the parallelogram are
M L

J K

(i) JL,LM, MK, K] (i) JK,KL,LM,Mj (iii) JK,KM,MN,NJ (iv) JL,LK,KM,M] (v) JK,KL,LN,N]J

14. Two adjacent angles of a parallelogram GHIJ are in the ratio 3 : 9. Find the measure of each of its angles.

(i) G=44°,H=133°,1=46°,]=137° (ii) G=47°,H=134°,1=43°,]=136° (iii) G=46°,H=134°,1=47°,]=133°

(iv) G=43°,H=137°,1=44°,]=136° (v) G=45°,H=135°,1=45°,]=135°

15 In the given figure, EFGHis a rectangle whose diagonals intersect atl.
" Diagonal FHis produced toTand ZEHT =144.78°. Find the angles of AIEF.

i

144.78° [

E F

(i) 1=72.44°,E=54.78°,F=52.78° (ii) 1=70.44°,E=54.78°,F=54.78° (iii) 1=70.44°,E=52.78°,F=56.78°

(iv) 1=68.44°,E=56.78°,F=54.78° (v) 1=68.44°,E=54.78°,F=56.78°

IJKL is a rhombus in which £1 = 127°.
16. JL

is the diagonal. Then AlJK is

(i) None of these (ii) an obtuse angled triangle (iii) an equilateral triangle (iv) an isosceles triangle

(v) a scalene triangle

17. In rhombusMNOP, diagonals MO and NP intersect atQ. Then £ZQOP =
P 0

M N

(i) £NOQ (ii) £QMN (iii) £PMQ (iv) £MQP



Two adjacent angles of a parallelogram are in the ratio2 : 2.
" Find the measure of each of its angles.

(i) A=91°,B=89°,C=92°,D=88° (ii) A=92°,B=89°,C=88°,D=91° (iii)) A=88°,B=92°,C=89°,D=91°

(iv) A=90°,B=90°,C=90°,D=90° (v) A=89°,B=88°,C=91°,D=92°

19. In kiteNOPQ, NP and OQ are diagonals. Then ARON =
P

N

(i) ARPO (ii) ARQN (iii) AQOP (iv) AQON (v) ARPQ

20. In rhombus MNOP, diagonals MO and NP intersect atQ. Then ZMNO =
P 8]

M N

(i) £LOPM (ii) £MNQ (iii) £NOP (iv) ZPMN

21. In rhombusEFGH, diagonals EG and FH intersect atl. Then £ZGIF =
H G

E F

(i) £EIH (ii) £FIE (iii) £HIG (iv) Z4ZHEF



22. In parallelogram OPQR,diagonals PR and OQ intersect atS. Then ZROP =
R Q

O P

(i) £LOPS (ii) £0PQ (iii) £PQR (iv) £ZQRO (v) £LQRS

23. In rhombus PQRS, diagonals PR and QS intersect atT. ThenSP =
5 R

P Q
(i) QS (ii) PQ (iii) RS (iv) QR

24. Which of the following statements are true?

a) All quadrilaterals are trapeziums
b) The set of parallelograms is a subset of the set of trapeziums

)

)
c) All trapeziums are parallelograms
d) All quadrilaterals are parallelograms
)

e) A parallelogram is a trapezium

(i) {d,a,b} (ii) {a,b} (iii) {c,e} (iv) {b,e} (v) {ceb}

25. ldentify the figure below
K

(i) circle (ii) triangle (iii) pentagon (iv) nonagon (v) quadrilateral



Assignment Key

1) (iii) 2) (iv) 3) (i) 4) (i) 5) (v) 6) (ii)
7) (ii) 8) (i) 9) (iii) 10) (i) 11) (iv) 12) (ii)
13) (ii) 14) (v) 15) (ii) 16) (iv) 17) (iv) 18) (iv)
19) (ii) 20) (i) 21) (iv) 22) (iii) 23) (i) 24) (iv)
25) (v)
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